
Caston Quiz 
Hope you are all keeping safe. The next conundrum involves numbers and 

key letters the number gives you a clue to the answer. Example 16 = O in a P 
Answer Ounces in a Pound 

Solutions to antonyash1.ta@gmail.com 
Crosswinds, The Green NR17 1DB 

 
 
 
  1. 1 = Won a U    26. 4 = LC 
  2. 1 = M and his D    27. 9 = L of a C 
  3. 12 = D of C     28. 54 = C in a D (with j’s) 
  4. 180 = M S in D    29. 64 = S on a C B 
  5. 20 = N on a D B     30. 12 = M in a Y 
  6. 7 = B for S B     31. 2 = W on a B 
  7. 3 = W M     32. 4 = Q in a G 
  8. 4 = P on a C     33. 13 = U for S 
  9. 7 = C of the R    34. 12 = M of a J 
10. 1001 = A N      35. 12 = G M and T 
11. 168 = H in a W    36. 13 = L in a B D  
12. 57 = H V      37. 7 = D S  
13. 11 = P in a FT    38. 24 = H in a D 
14. 88 = P K      39. 21 = S on a D 
15. 90 = D in a R A    40. 12 = I in a F 
16. 5 = T on a F     41. 8 = T on an O 
17. 200 = P for P G in M   42. 100 = Y in a C 
18. 6 = B to an O in C   43. 26 = L of the A 
19. 9 = P of the S S     44. 15 = M on a D M C 
20. 7 = S on a F P P     45. 10 = Y in a D 
21. 10 = G B H on a W   46. 18 = H on a G C  
22. 12 = S of the Z    47. 40 = D and N of the G F 
23. 32 = D F at which W F   48. 2 = H are better than O 
24. 29 = D in F in a L Y   49. 76 = T in the BP 
25. 8 = S on an O    50. 7 = D in a W 
 
Closing date is 9th May 


